Trigonometry - 6.6 - Solving Trig Equations January 27, 2017

X
6.6 #1-21 odd | finding solutions between 0 and 2pi / (7/6
#61-69 odd 5 finding all possible solutions (+2pi*k) \\3\
#71-83 odd 7~ O

Quiz on solving equations next week; Test #4 - Feb 6-8ish?

Solve for xe€[o 27T
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22. cos*x = cos? x

cos4x~coszx =0
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New Directions: Find ALL the solutions (not just in [0,27) )
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68. CoS (Zx — —) = —— o
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xe [o, 2T)

=X < 2T
cos(4x) = E ()< Ax < QT
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tan(5x) =0

S5x=O T 2w, 5 4, 5m; b A, b T

AT SIS ST 5"5—}%




	Page 1
	Page 2
	Page 3
	Page 4

